[bookmark: _GoBack]I will attach the case study for this paper. There are THREE questions that must be answered AND ONE question that asks for TWO calculations that must be done on a spreadsheet or PDF. Questions: 1. Why should the hospital be interested in seeing the development of more accurate costs? (250 words or less) 2. Calculate the costs and margins of the three different office visits using: RCC method TDABC method (Show your results on a spreadsheet--upload as a .pdf file) 3. Should the TDABC pilots be extended through the hospital? If so, how? (500 words or less) 4. Students may also wish to read Inside the Value Revolution at Children's Hospital Boston: Time-Driven Activity-Based Costing in Orthopaedic Surgery. *** Font should be TIMES NEW ROMAN/ size 12, double spaced 2.0
